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()

31 RLC
u=2201/2sin(314t + 20°) V (1) )
i (©)] cosep (4)

(6) P Q S

(1) X, =L =314x127x10" = 40Q

Xc= 1 = L s =800
oC 314x40x10

2] =/R? + (X, —Xc)? =4/30° + (40~ 80)° =500
U 22

(2) | :ﬂ=¥:4.4A

40-80_

Q= arctanXL;RXC = arctan

i = 4.4/2.5in(314t + 20° +53') = 4.44/25in(314t + 73°)A
(3) cosp=cos(-53°)=0.6
@) Ug =IR=4.4x30=132V
Uy =1324/2sin(314t + 73°)V
U, =IX_ =4.4x40=176V
u, =176y/2sin(314t + 73’ + 90°) =176y/2 sin(314t + 163" )V
Ug =X =4.4x80=352V
u=352/2sin(314t + 73° —90°) = 352¢/2 sin(314t —17° )V
U=zUg+U +U,
(5) 3.1
(6) P=Ul cosg =
220x4.4%x0.6=
580.8W .
Q=Ulsing= J v
R
220x 4.4xsin(-53") = 73 00
220x 4.4x (~0.8) = 1
—774.4var( ) U, U, +Ug Uc
S=Ul = 220x 4.4=968VA 31 31
3.2 I
U =220,20°V
Z=R+j(X_ - Xc)=30+j(40—80) =30 j40=50/ 53O

R=30Q, L=127mH, C=40uF
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U _ 220£20°
" Z B0/-5%
Ug =IR=44x30/73 =132/73'V
U, =jIX, =j4.4x40/73 =176/163"V
U =-jlXc =-j44x 80473 =352£ -17°V

I =44/73 A

3.2 32(a) RC R=100Q u,
500Hz u, 30° 2
3.2(b)
Ye _ tan30° Xe _ tan30° Xe _ tan30°
u, IR R
i .G
o 1t—° U,
\ul Ue R \uz 0 I
O O Ve U
@ (b)
3.2 33
1
e Tuc
Y
@CR V3
wCR=4/3

3_a_ B

oR  2mfR  2mx500x100

34 3.3(a) U =100£0°, R, =R, = X, = X, =50Q,
Ua,
1) U 3.3 (b)
U, =U =100V Uab U 90’
U, =-j100v
)
- 100£0 10020 _ 2245 A

50-50 /50% 1 502/ — 45°
U, =Ug=—jlcXc =—jv/2x50/45" =502/ — 45°V
Uy, =U, =l X, = W2 x50£ - 45" =50,/2/45'V
Uy =U, —U,, =50v22 — 45" — 5042245 =

50— j50 — 50— j50 = —j100V

=552x10°F=552 uF



U R1 b |
(b)

33 34
35 34 U =220£0°V Q)

, (100-+ j200)(-}400) _
100 + j200— j400
50+ 320+ j240 =
370+ j240=
440433 Q
2 3.4 35
220./0°

Y _ 22040 5, a3
Z 440,33

[ — j400
17100+ j200 - j400
400/ — 90°

224/ — 63.4°
100 + j200

27100+ j200— j400
224/63.4°

224/ - 63.4°
3.6 35 RC

Z=50

x0.5£-33 =

x0.5£-33 =0.89£-59.6" A

x05/-33 =

x0.54£-33 =0.5£93.8" A

[EEN
C

fof =t U U Z2_
°" onRC ! 2 U

1
I_ R C
1 1+jwRC o———]
Z;=R+- =— .
joC joC U,
mC U, r[]C Juz
1
R— o 0
35 36

Wik
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_ R
S uz 1+jwRC :
U,=1Z,= S — U, =
7" 2,47, 1+jeRC R !
joC 1+ joRC
joRC . U,
. 2 . ‘le 1
oRC
U, U,
a)RC:i
oRC
1
= fo=———
2nRC
U, _1
U, 3
3.7 3.6(a) R ab
Uy R 0 15kQ C=150p F, U =20V
50Hz Ua
s, b I
O
R[] RI|u. Us” Jua U
U a &»b \ P \0
. a
R |Ue u u
2
. 1 o
e |
@ (b)
3.6 3.7
. N
Uab:Uae_Ube:E_IR(_JXC)
U
Iy =——
R-jXc
.U U .
U, =—-— —jiX.)=
= R_ij(J c)
J(R+ ] Ulzlze U j
UR+ixe) Yldze U , U ,
2R-jXc) 2|Z|£-9 2 2
2| =y/R® + X
I, U

Xc 1
@ = arctan—< = arctan———
RaoC
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R U

U

Uy =—

®7 2

20

U, =—=10V
)
R @ 0° 0 180° R
1.5k U, 180°
0=2¢= 2arctani =
oRC
2arctan 1 — 5 =2x08 =16
2nmx50x150x107" x1.5x10
180° ~1.6° 178.4°
3.6(b) Ug Ug 90°
U .
R | b — U
R 2 ab
0
38 3.7 Z,=20+j100Q,Z, =50+ j150Q I,
U 90° R

Z,R  Z,Z,+(Z,+Z,)R

Z=2,+2,r=2,+ =
TR T ZO4R Z,+R

U=uUs0°
U U(Z,+R
7 72,2,+(Z,+Z,)R

Z;
i RO U(z,+R) R
> Z,+R  Z,Z,+(Z,+Z,)RZ,+R

UR
2,2,+(Z,+Z,)R

- UR
I = =
2" (20+ j100) (50 + j150) + (70 + j250)R
UR
70R —15000+1 000+ j(5 000+ 3 000 + 250R)

l, U9
70R—14000=0
R=200Q
39 f, Af =f,—f Q
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af =0
Q
f, f, lo, 0707
U ~ U _1,_u
=y
\/R2+(a)lL— 1 )? \/R2+(a)2L— 1 )? V2 V2R
,C w,C
2 1 2 2 1 2 2
R+ (w,L -——)? =R? + (w,L ———)? = 2R
®,C ,C
fl f2
oL — 1 =-R
®,C
w,L — 1 =+R
,C
fi<fy, ol<
1
f,> 1, ao,L>
27
o’LC+o,RC=1, ,’LC-w,RC=1
L (5022 _a)lz) =R(w, + o,)
L(w, —o,) =R
Af=f,—f =R o R _To
oL 2nf,l Q
3.10 .
R=10Q, L =4mH, C = 160pF 1)
) +109
@ fo=s = = -
o= =
2TVLC  2x3.14/4x1073 x160x10 2
1 —=199.1KHz
2x3.14x80x10"
== == =014 =100 mA
R 10
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X, =wm,L=2rfL=2x3.14x199.1x10% x 4x 10~ =5000Q

Xo=—to=o b . - =5000Q
w,C 2nf,C 2x3.14x199.1x10° x160x 10

Uc =1 X¢ = 0.1x 5000 = 500V
Uc _500

= =500
Q U 1
f ) 3
Af :J:M:mg_zm
Q 500
Af
f, = fo~=- =109100-190.1- 108.9kHz
Af
f, = fo-+ - =199100+199.1~190.3Hz
2 +109;
X Xe 0% 109

X, =5500Q X =45000Q
|Z|=\/RZ +(X, = X¢)? =\/102 + (5500 — 4500)% =1.000Q

Y1 b001a-1ma
lz| 1000
Uc = IX =0.001x 4500 = 4.5V
+10% | Uc
311 38 30V
30V
l, TN
3
I, =1020"A
U=1,Z,=10£0" x (3-j3) =
424/ — 45°V
U 424/-45

l,=—= :

Z, 5+]j2

7.8/-66.8" =(3-j7.2) A

| =1,+1,=3-j7.2+10=13—-j7.2=15/-29° A

3.12 3.9 U=ux0 Z, =R, +jX,
Z, =R +jX,
i u _ U

Zo+Z (Ro+R)+I(Xo+ X,)
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U

| =
\/(RO+RL)2+(XO+XL)2
U2
P=I°R =
R (R0+RL)2 +(Xg + ><|_)2:|RL
R XL
X, ==X,
U2
=—R
(Ry+R)
dP
—_— R =
R, L =R
R =R, X ==Xq
U2
I:)max _4
Ro
313 312 39 U =100£0°V , Z, =5+ j10Q
Z Mz, =50 (@ Z,=Z| (3 Z, =5-j10Q ,
Z,=5+j10=11.2/63.4'Q
@) Z, =50
j__ U 10020 _10040° _ 10040° _ .00, 45 s
Z,+Z, 5+j10+5 10+j10 10J2,/45
R =1%R =(7.07)* x5=250W
(2) Z, =|Z,|=11.202
i U 100£0° _ 100£0° _ 100£0° ..o o0 oo

" Z,+Z, 5+[10+112 162+j10 19317
P, =1?R_=(5.26)* x11.2=310W
(3 Z, =5-j10Q
U 100400 100£0°
Z,+Z, 5+j10+5-j10 10
P =1?R_=10? x5=500W
3.14 3.10(a) U =100£0° X, =1000Q

[ =100
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X =500Q, R=2000Q |

v

=X ||R

@ (b) ©

3.10 3.14
R Uy, 3.10 (b)
0 100,0 —100v
j1000- j500
=000 100,0 - 200v
j1000— j500

U, =U,-U, =-100- 200=-300V
Z, 3.10 (0) X Xe

Zy= zwz ~j20000Q
{1000 500

311 R
= Ya _ _ — 300 =-0.106245 =0.106/135 A
Z,+R —j2000+2000
3.15 312(a) Z,=3+j4Q,
Z,=6+j8Q Z,=5+j5Q, u=220y/2sin(314t + 60° )V
i =10v/2 sin (314t — 60°) A Zs

3.12 (b)

(b) ©
3.12 3.15

i u 220400  220/0°
 Z,+Z, 3+j4+5+j5 8+j9
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2020 _ 183, 484
12/48.4°
3.12 (¢)

o Z . i

A S A ) T Y

Z,+Z; 3+j4+5+]5

02-89 _ 416,415 A
12/ — 48.4°

’

[i=0, +1, =183/ 48.4° + 416/41.5° =12.15— j13.68+ 3.11+ |2.76 =
15.26 - }10.92=18.76/ — 35.6° A

P=1,° x5=18.76% x5=1759.7W

3.16 3.13(3) ,  U=200V,P=1500W, f =50Hz
R=R,=R;=R I;=1,=1,=I |l RL C ?
U,=U,20"V I, U, I, U,
=1, +1, l=1,=1,=1I

3.13 3.16

3.13(b)
R,=R, I, I
l,=1£-60°A, [,=1£60A, [, =IZL0A

U=RI, +U,

P 1500
Ucosp 200x1
l=l,=1,=1,=75A
P=Py +P, +P, =3I°R
P 1500

=— = =89Q
312 3x7.52

=75A

1

R, +jol =%= |z| 260" ©

2



ol = Rytan60° =+/3R

L=@=O.O49H

(2]
Rg—ji=$=|z|4—60°g
oC |,

1
—— —R.tan60° =/3R
oC 3
c-_ 1

— =~ =206.8 uF

V3R
3.17 3.14 (a) U =200-0° V, f =50Hz, R, =491Q,
c R, b
49.1V U,=8V 1

|
@ (b)
3.14 3.17

3.14 (b)
U =200-0° V
I, Y 1,£0° A
R,
RR C R Iy U 0
I,=1,£60° A
U, =U,Z£0 =85/0"V
U, =U =200-£0"V
Ug=I1R=U,26"V
b LJcb Uad
Uab Uac ch 0 Uac Il ch
0= arctanh = arctanﬂ'1 = arctan0.577 = 30°
U, 5

Up=yUn?+U,2 =+/85% +49.1° =982 V

PPN
YR 491
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I, =0.2/30°A
U, =98.2/30° V
Uy, =49.1290° V
cd U
Uy =U, -U, =200,0" -98.2/30° =125/ - 231" V

3.1 | =15A f =50Hz 42°
t =0.001s
32 U=a+jb l =c+jd
90°
3.3 U=220e®V [=-4-j3A,
I =4-j3A, ?
34 i=|msin(a)t+%)A t=0
i =0.866 A |
35
Vo
5A X,
o )
oA, O
(A
34 Xc
(c)
10A
YA
5,
j5Q
3.6 3.16 AL A I, =3A,1,=4A
(1) Z,=R,Z,=—jX¢, Ao ?
@ zZ=R Z; Ay ? ?
(3) Zl = JXL ZZ Ao ?

37 3.17
R, = 280Q R,=20Q L=1.65H U =220V
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220V? 50Hz

R
u
R,
L
3.16 3.6 3.17 3.7
38 318  1,=10A,1,=10J2 A,U =200V ,R=5Q,R, = X,
| Xe X R
3.9 319  1,=1,=10A,U=100V,u | | R Xc
XL
- |£
R
3.9
u, =+/2sin6280t V
Uz
R
Ug Tr
C
U, R u,
O — 0O O
3.20 3.10 321 311
3.12 322  U=220V,R =100, X, =10J3Q, R, = 20Q,
3.13 3.23 U =2204/2sin314tV , i, = 22sin(314t — 45°) A
RL C

3.22 312
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3.14 3.24 U=220V,R=22Q,X, =22Q, X, =11Q,
g I Ic |
3.15 3.25
U R C .
R1C1:chz —2= 2= - Uz U1
U, R+R, C, +GC,

O
Icl | Ll | Rl |—|:|—|
u = U, R c U,
- JXc JXL§ R [] R ?
O (o, O
3.24 3.14 3.25 3.15
3.16 3.26 ?
3.17 327 X_=X.=R Ay 3A
A,  Aj ?
O
~
o . !
3.26 3.16 3.27 3.17
3.18 50Hz 100V
20A 60Hz 18A
3.19 U, =220V P, =60W
U =220V f=50Hz U, =180V U, =100V
1) ) ©) (4)
3.20 3.28
3.21 3.29 Z,=6+i8Q,Z,=-j5Q, Z,=4+j5Q,
U, =220V u
_|.> S— I
. —r—1+—— I3
|.1l I.% o—4 Z; i
U|30£0°V 100 . l .
40 I U 2 Zy[] Vs
1 !
3.28 3.20 3.29 321
3.22 3.30 I, =18A
I,=15A | =30A R X0
3.23 ( ) R L



331 Uu=50V,I=1A,P=30W 50Hz

3.30 3.22 3.31 3.23
3.24 3.32 4A i, U3
u=220y2sinwtV,Z,=(15+j2Q,Z,=2Q, Z P
3.25 3.33 l¢=6230° | Ps

3.32 3.24 3.33 3.25
3.26 3.34 I, =10A, 1, =10J2 A,U =100V2 V
R=X_, X¢, =100 M1 Xua X R P (2
3.27 3.35 i =+/2sin314t A ,L=0.25H R
I g 45°7?
l i l
IL
Is T @ R [] L %
3.35 3.27
3.28 A, Ar Ag 17A 9A 10A
Vv 50Hz MR, (2 Z: (3
4 Z3
3.29 3.37 u, =V2U sinot Vv ® b U
2 & =2
1
3.30 3.38 R=£,u=\/§U sin(wt+30°) V
R vV, V, U,
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3.31 3.39 u=102sin(314t + 60°) V, R, =1Q ,
R, =Ry =10, X =X, =X¢ =1Q, [

R
o @A)
Y é C
+ @
R, Z,
O
3.36 3.28
(e
R R
U
a
R R C
C T
3.38 3.30 3.39 3.31
3.32 3.40 | =18/45° A, U,
333 341 E=10£0°V, X4 = X, =R=R_=100Q
R I
|1 |
I ! i
- JX01 chz i -
+ .
Ofe 0= =
3.40 3.32 341 3.33
3.34 3.42 Ue =120V U
3.35 3.43 u=10/2sin(314t +30°) V
i =5v/2sin(314t +60°) A 20 i
20 j2Q
o—r—TN
U - j20 ::l 1B
Ue
O
3.42 3.34 3.43 3.35
3.36 3.44 U =220V, f =50Hz S

1A L
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3.37 345 w

R C wCR=1 U, U,
90°
S
o—@ o/ o
R
u C——
L U ,
@
O
3.44 3.36 3.45 3.37
3.38 3.46 R? =% Z=R
3.39 3.47 U =100V, f =100Hz,L =63.7mH, C=31.8uF
R=10Q : (D)
2 C P ? Q. Q Q ?
3.40 R L C f  500Hz
0.2A Xe 314Q Uc Uu 20
R L
341 300 pF C L = 0.3mH
R=10Q U =1mV Q)
fo IO Q UC (2)
+109% Uc ?
r — | o @
a <
R
R "L ' @ L
- T
L C L
bo o 1
3.46 3.38 3.47 3.39 3.48 3.43
3.42 0.25H 13.7Q 85uF
3.43 3.48 L R 15A
12A C ?
3.44 40W (
) 220V 50Hz
110V
0.8
3.45 1.21kW 220V
11A

0.91 ?



3.46 10KW 220V
50Hz 8kW 0.6
«y
) 0.95 ?
3) ?
3.47 3.49
C C
? ?
3.48 3.50 Z,=7,=025+j05Q,
Z, =08+j20Q, z ?
3.49 3.47 3.50 3.48
3.49 351 i =10v2sinwt mA
1) A ?
) A L=1H,C=4yF u="?
—— o—(MN
2kQ X,
10 = s R[] oF
uF
O
351 3.49 3.52 3.50
3.50 3.52 U 50Hz
C
Q) cosp =1 R ?
1
2 CoSp =—— C ?
V2
351 353 R =2kQ,R,=500Q,C =1000pF U, =Ug
U Uy
1) L=
) 50Hz U, U,
| : .
3.52 354 R:JJ<Q,I—2=J§ U, u,
1
U,45° X
353 355 200V 0.1A 12W
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X, =2500Q, X, =1500Q R
jol l
a0 o—m_, —=
I 2
R R, 1 l .
 — U, ——— R U
U, 0. d 2 ch [] 1
C
b o —|_ O
3.53 351 3.54 3.52
3.54 3.56 U =220V, 50Hz L=1H, C=1uF
110V 15W
355 357 Zi 2 [ Z ?
3.56 3.58 u=10y2sin(314t + 45°) V. X, =250

Ue =5v25sin(314t —120°) V

C
O
3.56 3.54
= c
| =
11
Z
ozl 7 o
! 2
357 3.55 3.58 3.56
31 60° 13A
3.2 b_d o P__° b__d
a c a d a c
33 Uu=220V2sin(wt+30°)V,i=5J/2sin(wt +143°) A
34 1=+

V2
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35
3.6
3.7
3.8

39
3.10

312
3.13
3.14
3.16

3.17
3.18
3.19

3.20
321

3.22
3.23

3.24

3.25
3.26

3.27
3.28

3.29

3.30

331
3.32
3.33
3.34
3.35
3.36
3.39

(@ 141A; (b)8OV; (0)2A; (d)14.1A; (e 10A, 141V
D5A; 7A; Q1A
1=0.367A , 103V, 190V
| =10A, X =15Q,R, = X, =7-5Q
| =102 A, R=10y/2Q, X, =10y2Q, X, =5/2Q
R=9kQ,U, =05V
l,=1,=11A,1 =11/3A,P=3630W
i =114/2sin(314t + 90°) A, R=10Q L =0.0318H, C =159uF
lp =10A, 1, =10A,I.=20A,1 =10J2 A
V,=10V,V, =102V ,V,=10V,V, =0V
1, =3J2A,1,=3A
R=34Q,L=11.7mH
()1 =0.6A (2R, =50Q,L=0.94H,(3)cosp = 0.86,
(4)P=78W
|, =6/531°A,1,=320°A,1 =82,/36°A Z=37/-36"Q
|, =257/-167.9°A I, =51.3/ - 26.6A, [, =344/ -51.3°A
u=252/2sin(wt - 65.3°) V
R=5.31Q, X, =4.390Q
R=30Q,L =127 mH
Z,=10.3/-286°Q,P=1498.6 W
| =1.2/-60°A P=1224W
(DI =10A, X, =10Q,R=X =5Q, p=1000W; (2) cosp =0.7
R=X, =785Q
DR, =2220Q,(2) Z,=11.8/28'Q, (3) cosp = 0.88
(4) P=2838.2W
1Y, 2

““Rc'U, 3

V, =%U4120°V VA =%U460°V U, =Us120"V
Z=45,263'Q,1 =4.47/335 A ,P = 40W

U, =48.7/-119°V

I, =j33mA

U =+/5,63.4°V

i =5y2sin(wt +30°) A,P=300W

L =0.35H

(1)1 =5J2 A,P =500 W,Q = —500 var ,cosp = 0.707
(2)C=39.84F,Q =4000var,Q=0
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3.40
341

342

3.43
3.44

3.45
3.46

347
3.48

3.49

3.50

3.51
3.52
3.53

3.54
3.55

3.56

R=159Q,L=0.1H
() f, =531x10°Hz, 1, =0.1mA ,Q=100,U . =100mV
(QU; =4.7mV
fo =1100kHz ,|Z|= 214k
C 9A
X, =524Q,L=1.7H,cosp =05,C = 2.58 uF
cosp =0.5,C =102 uF
(D1 =61A,(2)C =527uF, (3)1 =38.3A
38%

Z=(05-j1)Q

(LA Ra La R, =2400Q0,L, =2.4H
R, =3000Q0,L, =12H

(Qu=0

2(R- X)
a)[— R? + RyR? + 4X (R- X) |

DR=2X , (2)C=

L=imH U, U490
X, =366Q
R=1500Q, X =750Q

Z,=-2,
Z=j3.880Q,Q=243var



